Analytic Geometry
Weekly EOC Review Homework

Name:

Hirscin

Due on Friday

MONDAY — Jan 18 TUESDAY — Jan 19 WEDNESDAY — Jan 20 | THURSDAY - Jan 21
Find the value of x and Triangle ABC has vertices | What is the center of Are the triangles similar?
justify your answer: A(0,2),B(4,4),and dilation: Justify your answer by
C (-1, 4). What are the : . showing your work.
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Find the missing side: Find the tree’s height. How far apart are the
; telephone poles?
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In the circle shown, BC isthe Fmd the area of the Find the Pyramid’s Find the volume of the
diameterand m AR = 124°, . - . )
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Find the product of: which expression has a value | Simplify the expression Find the Volume
that is a rational number? V27 —+/12. Show all
(x?- 3x+7)( 4x-8 ) work.
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